| N of associated (recoToSim) looper tracks vs dxy |

[N of associated (recoToSim) tracks vs dxy ]

N of reco track vs dxy

o

0 ]
£
Qe
[~ o
0 5
R
3
o —
— © 5 S
™ g
H
8
o =
2
i H
o €
= [
! <
LD o
i g
o =
N &
3
) 2
o ]
z
0 _ o
N o
£
o O
QL
2 o
o ~
— O
]
o
=
B 2
0
o
el
1
o
n
o
i
o
o
LD
N
)
Q= 153
>
£
o X I
o
I X
=} M
g 1l © ~N o
[o] IH H = S —
Ol. . -
] 0 2
x £
ey o
N °© g
=t |
AN @
52 o °
© = — 5
ol v L 3
H [t g
2 T
ol : ! 2
|- 2 ]
: ) 5
=] S s
Jusss s ey bydo ol L) ]
S o Al CHC] ICECI S H
S = bols o 5
| H z
- L
o ©
sis}
s}
=i}
B8
Um S\Il o
3]
24 NE I3
....... B =t B
1 BS o X I
T2 < i
x
e = ado ©
o4 0 = © o
afal B . =1 —
0
o o
n
[
o
o 3| o
W g
o
— b o
| @ N
o 5 )
N ol
| 3 :
9 2 [ S
) 5 S
Z|

track dz (cm)

track dz (cm)

track dz (cm)

track dz (cm)



	Contents
	Page 1


